%18 PENALTY CUP tL5EYYH—TIARAFT1NN

=i5 BEfE [ (zoso) XEH—F £ B2
10:00 | [1] |at  FCHXE | 3|vs 0|A2 AC Evolutivo | FCkiR [ FCkiR

‘ 11:20 | [2] |as FCKIR 3 vs| 1At FIL—2wEERE| Foapx | Foavsx
;((iigl)* 1240 | [3] |Bs FCEXITO |0|vs| 6|Bi FC FRESCA |71—vxmm|si—svmm
14:00 (4] |B2 t£#iESC 0|vs| 2|B3 LLIfZFC FC E'XITO|FC E’'XITO

1520 | [5] |84  FCHZEI= 1/vs|0|B5 FCEXITO £4iESC | tHiESC

3A308(%)

10:00 (6] |B1 FC FRESCA |2 |vs| 0|B2 t4#iESC WFC wFC

11:20 | [7] |83 LLIfZFC 0 vs| 0 |B4 FCh=1- FCILRA | FooLzA

XT‘,J_[/J_ ﬁ);t% 1240 | [8] |As U5TEEH 3 vs|0|A1  FCHPE FChEt- | FohEt
14:00 [9] |A2 A.C Evolutivo | 2 |vs| 4 | A3 FCkiR 95758 | 95755
15:20 | [10) A4 D IL—BERE O |vs| 5| A8 95T EE |z —&|zRrs—K

=i5 BEfE [ (zoFo) XEH—F E BIE1-2

930 | [11)|as  HZ5TEEH |[3|vs 1 A3 FCKIR FoaHoE | FombE

‘ 11:00 | [12) |at  FCHPE |7 |vs 0 as TIL—C k| 957958 | 957955
;éil'/t-yié\ 12:30 | [13) |A2 A.CEvolutivo |0 vs| 5|a5 HS5TEB |7r—vemm|sr—somm
14:00 | [14] [B3 lFZFC 4 |vs|1|B1 FC FRESCA [THRiLFs—K|THRILF—R

15:30 | [15] |B2  t£4JESC 1|vs| 0|B4 FCH=T- WIfiEFC WIfiEFC

3A318(L)

9:30 [16] [B5 FC E'XITO 3|vs| 1 |B3 LfZFC FCILZA | FeoLzn
. 11:00 [ [17]|B1 FC FRESCA | 2 |vs| 0 |B4 FCH=T- FC E'XITO|FC E’XITO
XT,J_L/J_ ri):i:z- 12:30 [ [18] |B2  +£#JESC | 0|vs| 3|B5s FCEXITO | FohEt= | FobhEt-
14:00 | [19] | A3 FCXiR 0|vs| 3|Aa1  FCADE £4iESC | t4iESC

15:30 [ [20] |A2 A.C Evolutivo | 1 |vs| 1|A4 FJIL—UpBERE| FokiR | FoxkiR

=i5 BEfE [ (zoFo) XERH—F EE:2 B2

9:30 | [21]1| AL 5758 3 |vs| 1| B2fi IUFFC Bl A2t

‘ 11:00 | [22] |B1fiL FC FRESCA 2 |vs| 1| A2fii FCHHE Alf B2fir
’—((ii_’%‘g‘ 12:30 | [23) PS5 ’7“)1/—9‘)('@5&; v ; B5{ii t£4#;ESC | l2nan | (22189
14:00 | [24] | AlfiL 95T 58 | 3|vs| 1 |B1fiL FC FRESCA| Asfz B5f

4A18(R) 15:30 | [25] | B2fi LUFFC |0 |vs| 1| A2 FCHPE | x#= | w=
9:30 | [26] | A3fiL FCKIR |0 vs| 1| B4{i FCHEI B3fi Adfiz

Z—yitg | 1100 | [27]| B3fZ FCEXITO |2 VS| 2 A4fii AC Evolutivo| Asti B4z
(ZL—) 13:30 | [28] | [26]&I(F FCHR | 0 |vs| 2 |[27]&(F FC EXITO| (26185 | (27185
15:00 | [29] |[26)8%5 FCHZET- f ve f [27]8% A.C Evolutivo| [261&1+ | [271&1+
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